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Name Date Class_
mzmﬂ Factors and Multiples
Module Quiz: B
1. Which of these is a factor of 15? 8. Julie has two email accounts. She checks
A2 c 10 one of them every two hours. The other
. o % one she uses less often. She only checks
it every 24 hours. She checked each
2. Which is not a factor of 367 account on Monday at 2 p.m. When will
A3 c % she again check each account at the
B 6 D 72 same time?
3. Which is the GCF of 8 and 122 A nextMonday at2 AM
A c o B nextMonday at 2 P.M
54 o % C Tuesdayat2 AM.

4. Rose picked 18 tulips and 20 daffodils.
She divided the flowers into groups so
that the same number of tulips and
daffodils were in each bouquet. What is
the greatest number of bouquets she
could have made?

D Tuesdayat2PM.
9. Which pair of numbers has a GCF of 3?
A 3and 18 C 8and24
B 12and 18 D 1and3
10. Which pair of numbers has a LCM of 12?
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. Which of the following is a multiple of 87
A 4 Cc 20
B 8 D 100

. Which of the following is not a multiple
of 122
A 12 c 100
B 24 D 144

. Every fourth visitor to a museum gets a
free bumper sticker. Every tenth visitor to
that museum gets a free key chain.
Which visitor each day will be the first
one to get both the bumper sticker and
the key chain?

A tenth

B twentieth

C fortieth
D hundredth

11

12

Which is the way to express 18 + 24 as
the product of the GCF and another sum?

A 2x(9+12)
B 3x(6+8)
C 4x(4+6)
D 6x(3+4)

Jesse kept track of how far above or
below par her golf scores for 9 holes
were. She wrote them in the order they
happened: -1, 0,3,2,2,-2,0,1,4.
Which list shows her scores in order from
below par to above par?

A 0,0,-1,1,-2,2,2,3,4

B -2,-1,0,0,1,2,2,3,4
C -1,-2,0,0,1,2,2,3,4
D 4,3,22-21,-1,0,0





